A £ 0l &8 A E Ml A

20229 20i4H LBESIH| A=A RZE|AFR A

SN ASNRBEIARA
I 23U (2UBR/28H)
o9l AnkE 22 (el Hel)
- = o HEAS =
S - 3 - R(SH) - MRAY - BAS Ol &kt 01l AkoH HwE2
AL NRABRINRA 3,067,428 2,776,617 280,811
= 487,000
< 36,505
Al 2,533,903
SoRT AR (23U Y/ 25H) 1,193, 115 1,684,087 490,972
= 487,000
< 36,505
Al 669,590
A% 2 367,698 389,070 ~21,372
HALzre 128,186 80,082 48,104
101 @124y 21,180 20,302 878
04 JIHIZE RS B4 21,180 20,302 878
O Atzie| 2129 21,180
—og 73,2808 * 19 * 2302 16,855
—=gag 73,2802 * 12 48 3,518
—HNRIEIEY 73,2802 * 1Y * 112 807
201 YBr2 | 55,956 59,030 3,074
01 Al 2] 4,900 7,938 13,038
Ostza peIgE 7Y
10,0002 * 4744 * 122 480
OMDISZHES (1004 )
2,0002! * 2% * 3652 1,460
OBESZA R 7Y
20,0002 * 324 * 24 + 128 1,440
OBATHISE 79 20,0008 * 35 * 122 720
OSHSTNY AU+ 2IDIXIA
400,0002! * 23] 800
02 2B2YH| 51,086 51,002 A3
OFII2 2,100,0002! * 122 25,200
Oast+ER3 600,0008! * 122 7,200
OB 50,0008 * 128 600
ORALes ABE 40,0002 + 12 480
OFA Y24l A58
15,0008 * 3CH + 128 540
O2%N2 Szt 4,608
—ALHHEHSR)
9002 * 54 % 5AI2F * 1202 2,700
—0IFII(F12R)
1,5002 * 2 5AI2F * 120 1,908
OFOHIAE B2 10,0002 * 122 1,200
ONsx &4 400,008 * 404 1,600
ORZ KA 2,128,0002 * 14! 2,128
OAlE =Y X 7,500
—2A2 Xzl 1,000,000 * 33l 3,000




S ASNRBRIAS
A% Baimann (2L A
ool AANE 22 (EH9l: @2)
) NET -
S - B BR(S) - NRAY - BES 04l b0t e HimE==T
—JIEF AEZHI(@I1, 1A S)
1,000,000 * 33| 3,000
—EA 00121 FA 8% 1,500,000 * 13] 1,500
206 T 24] 750 750 0
o1 zH] 750 750 0
OFArRiel HYET 2Y
50,0008! * 55 * 33| 750
401 A8 L= CHb| 50,000 0 50,000
0T AlZH] 50,000 0 50,000
OASNR B ORF £ SXI(2H)
50,000,002 * 141 50,000
405 THAHFISH] 300 0 300
01 AL EZF S| 300 0 300
O HoIZ MOl DY 300,000 * 1C) 300
N EEEE 239,512 308,988 169,476
101 Q121 19,700 31,161 A11,461
04 JIREENSES 9,700 31,161 A1, 461
OA+ME £ LSl X SSaiZa ST
oIl 9,850
—og 73,2802 * 1% * 1102 8.061
—FE4g 9,160% * 3.2A12F * 502 1,466
—HRRIFINY
9,160 * 3.2A12F * 112 323
OA4H £Y HE2S ol 9,850
—2ig 73,2802 * 1% * 1102 8,061
—FE4g 9,160 * 3.2A12 * 502 1,466
—HRRBFIY
9,160 * 3.2A12F * 112 323
201 2er2 | 91,992 88,260 3,732
01 Al 22/H] 71,200 71,400 A200
OL4NABRIARL B2 BB M
20021 + 24,0000} 4,800
OB MALWSX DY 50 * 50,00004 2,500
OAmormzRI X RSl &=
200,000 * 2% 400
OBASR thf % B0t FIS
60,0002 * 5% « 43| 1,200
OsE22 g8 25 ¥ oS NN
8002 * 6,0005 4,800
OA+NE LAREX YRE
57,100,008 * 14! 57,100
OSHE A[EX URE 400,008 * 14 400
02 2Z2H| 15,792 16,860 A1,068




2A AMHCIAMR
M ZIREA 3FE|(-E-§ 22/ 235HH)
S9l: A4 22 (S @)
S - B ERI(SH) - MISAY - BAS Of ko cla SimE==]
. (=2 - S/ == 0:"&.0” WsSa
OLME Qe AE 22| 2
400,000& * 123 4,800
OCCTV S XI&eltl 100,000& = 15CH 1,500
OEAIAE SXI2tel] 300,000& = 12& 3,600
O JIWE SHT4 42
35,0003 * 8IHAL = 123 3,360
OI2IZtE &©&D| 018 =2
11,000& * 12& 132
OEM SXE T B2l IPIE 2= g€5=
4003 * 6,0000H) * 13 2,400
03 A2 G| 5,000 0 5,000
OHIXE Z3IXf sttt AL
5,000,000& * 14 5,000
203 HSF=&H| 2,000 2,700 AT00
03 AIBZ=AHRZ=AIH| 2,000 2,700 AT00
O3 Bsae| gRF
2,000,000& * 14! 2,000
206 M= 4| 1,600 1,800 A200
01 MZHl 1,600 1,800 A200
O&EI, JIHEY AR5 72
200,000& * 38 * 23| 1,200
Ogsol 2 Hl 2 20,000& * 10& » 23 400
307 QI2t0| & 10,000 10,000 0
02 QIZHHAAHE X 10,000 10,000 0
OBH (MY, 24)SEBO U IXHSHA
(28 40% 25,000,000 * 141 = 40/100 10,000
308 KHXISHHISOIH 11,667 11,667 0
12 JIEtRE3 11,667 11,667 0
O=stiEs)|I=2 23
350,000,000 * 1/3 * 10% 11,667
401 AIEHIZL 2048 100,500 160,000 259,500
01 Al&HI 100,500 160,000 259,500
OLaME ALR HAZLIHE
5,500,000& * 14! 5,500
Ox=NE =& dolls M & G232
20,000,000 » 14l 20,000
OALIR & JIE=2 83 S |XZel
25,000,000& = 1A 25,000
OA%AE BT+ HUTCR
50,000,000 * 1A 50,000
405 THAEF SHI 2,053 3,400 A1,347
01 XA = SHSHI 2,053 3,400 A1,347
Ol=EA &I 7 1,800,000& » 1CH 1,800
OI&I3tE & 2 253,000& = 1CH 253




SN

Y 2SNV (23U 25H)
CHol: PNl Rl (EE R
) _ - NET
S - ZH - SRA(SIH) - HIRAY - BaS il ko S nion HlmE2
EENVEETET 805,417 1,295,017 469,600
2 487,000
< 36,525
Al 301,892
dyiE 22l 29 196,667 336,667 140,000
207 1L 0,000 0,000 0
EEE=ET] 0,000 10,000 0
OFISAlE 2YB/OL 82 10,000,000 * 14 0,000
307 BI2H0IH 116,667 116,667 0
05 BIRISIE2 116,667 116,667 0
OHMbIE 2FE +3 D
350,000,000 * 1/3 116,667
401 AIZBIZ 2T 70,000 210,000 140,000
01 AIZH] 70,000 210,000 140,000
OWHIZ D &8 S A8 RN+
20,000,000 * 141 20,000
OHBIE SEHHRE ALBAHEH)
30,000,000 * 14! 30,000
OHIZ D HMBAIL JHEAKS
20,000,002 * 14! 20,000
dylesszazg e 20,000 349,600 329,600
401 AIZBIL 2T 20,000 345,000 325,000
01 AIZH] 20,000 345,000 325,000
OBI=MHI2a4RIR DI, S S AL SX24
20,000,000 * 14! 20,000
EIEERTECENE TS 608,750 608,750 0
2 487,000
= 36,525
Al 85,225
307 BIRH0IH 608,750 608,750 0
2 487,000
< 36,525
Al 85,225
02 BRIFNAIEEE 608,750 608,750 0
OBt 2SR TE 14
608,750,000 + 14! 608,750
2 487,000
< 36,525
Al 85,225
A4BI2 PE)(2S U/ 25HTH) 230,654 232,641 A1,987
LsE2R 29 230,654 232,641 A1,987
LaES ol2Y 175,874 192,063 A16, 189
101 Q1218 9,850 15,929 26,079
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Al
X‘liH:
Chey|:

o
10
B
[0

_ _ HNEE =
A - B SRA(Z) - MRAY - BES Ol &kt Oi| AboH HwsS2
S CEEEEE 4,000,000 * 13| 4,000
—CCTV X84 100,000  8CH 800
—AAIE SXPa 2,000,002 * 1] 2,000
—JIEF AIEEHI(FI1, 01 S)
500,002 * 331 1,500
OJIHA BF AAY &4 2,000,002 * 13 2,000
O24FeINE SHED 24
3,000,002 * 13| 3,000
OFAIA 2o A= 8
300,002 * 43| * 8742 9,600
OA4ES2 LS ASZ0F AEETAF
1,000,000 + 13l 1,000
OL48S2 ALES AFZ0F FIIHHFY 2
2,000,002 * 23| 4,000
206 T 4,200 5,400 A1,200
0f 2] 4,200 5,400 AT1,200
OII, JBH £2F 2
250,002 * 2% * 23| 1,000
OFAlY YHRHE T Dol
900,002 * 23| 1,800
OS2 MUTT 7Y 50,0008 * 25 * 53 500
OXZX BEH LHAK S 7Y
100,009 * 3% « 33l 90
T EET 26,500 34,000 AT7,500
01 AIZH] 26,500 34,000 AT7,500
OA4ES LYSols TMTA
5,000,000 * 13| 5,000
OA+HS ZISZ AL 22 A
6,500,002 * 13| 6,500
OAXBSE ML T4 P4 BA
2,500,002 * 33| 7,500
OA+HSB JIT FIALS &X| JA
7,500,002 * 13| 7,500
L4822 R27Y o Ao 54,780 40,578 14,202
101 Q124H] 21,180 6,978 14,202
TRV = =B 21,180 6,978 14,202
ou2n 23 ARy 21,180
—g} 73,2802 * 19§ * 2302 16,855
—FE4G 73,2802 * 1% * 482 3,518
—QINRIENLY 73,2808 + 12 « 112 807
201 B2 ] 33,600 33,600 0
01 AFR22H] 33,600 33,600 0
OFAIIBRE =X & FoI=HE 15,000




SH ASKRABRIARA
M ASUIES 22|(2sL 22/ 23H)
ool AdE2R 29 (=I5
S - R - SRIEH) - ARAY - BAS e G HIDE2
—SAIRE SHHI(2A, D2M S)
500,000& = 10& 5,000
—JIERE SH & JU2ZME
10,000,000& = 14! 10,000
OA¥RE E&EXC € 2EES 78 18,600
—2ZARE BEXM ¥ EX(MHE, HiE 8)
50,0002 = 1008 5,000
—2YRE BESAS 5,000,000& = 13 5,000
—ANRE PEBE TYU(R2UN, BEIH 5)
100,000& * 55 * 10H 5,000
—dAIY & =& g=Es o5 7Y
300,000& = 12 3,600
AEE2O HAAE 2(23H22/250s) 1,119,000 281,000 838,000
SAI23 ALY 23 1,069,000 246,000 823,000
A SEd SEIIEE i3 69,000 69,000 0
201 ZetEg| 69,000 69,000 0
01 ArR2t2|H 65,000 65,000 0
OS&I"E Izl & &5 & 65,000
—&AICIAR! 2 D13 12,000,000& * 14 12,000
—HAERS(HE, BE 8) M=A
10,000,000& » 14] 10,000
-5 M 12,0008 = 1,000z 12,000
—JDYE(HAZ Z§) 20,0003 = 250% 5,000
—R= AREZ 50,000& * 140% 7,000
—ZAH WA 2,000& * 50052 * 13 1,000
—clZ2 M 1,000& = 2,50000 * 12 2,500
—=0& M 2,000& * 50001 * 13 1,000
—HAIS A & S2ESY HMA
2,000,000& * 14| 2,000
—s3¢ M 3,000,000& * 34 9,000
-2z 100,000 * 52 500
—&Al U == =52 3,000,000& = 13 3,000
02 S5=gH| 4,000 4,000 0
O==, ZAH o 20T 2 2B
2,0003 » 25 = 5009 * 13 2,000
Ol == 28= 2,000,000& * 12 2,000
At AENAIY CIZ2EE ALY 1,000,000 0 1,000,000
401 AlEHIZL SO0 1,000,000 0 1,000,000
01 Al£H] 1,000,000 0 1,000,000
OA=EtEzt A-TAIY 2|22 AFS (B AIZ0F)
1,000,000,000& = 14! 1,000,000
AR 2= MY 29 50,000 30,000 20,000
FSEIA A 22t 50,000 30,000 20,000
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A AARIBRIARA
0 =

HE: OIAUISD D2|(25U BT DU DT ALY
ol olamiEm T2 oo (o) @)
] _ - AT
SA - Az . S () - HIEAY - BAS 04| AroH '@Eou Hlws2t
201 LBt AH| 4,320 4,320 0
03 A2 A 4,320 4,320 0
O2stual 89 4 320
—bt ZAIR(S XD, X220 S)
80,000 * 3AIZ2t » 4UXE} % 23] 1,920
_eza0 9 gHge
10,0002 * 302 * 4245 * 23] 2,400
HMSAAY|(ASAAZRIAIFRAN) (DIEHDIEH 375,822 355,231 20,591
olea2AH| 293,584 282,543 11,041
OleA2AH| 293,584 282,543 11,041
101 C124d]| 293,584 282,543 11,041
01 &2 126,585 123,996 2,589
OxBRSLL 84,759
_Azrelasag
10,9523 = 12 = 3BAI2H = 128 56,776
_AAMRORIESR
10,9523 » 1 = 7A|2F ~ 365 27,983
Osed2244 88,034& * 3 * 118 31,165
Ooptassn
3.65181 * 120 * BAIZF * 35 10,661
03 ZoE (2o 22T EA 166,999 158,547 8,452
O- ARl oIl 166,999
=J|IE23 2,166,850 * 4% « 12&€ 104,009
_oimEI|
2,166,850 * 75% * 4% x 23| 13,002
—&d2E 2,166,850 * 35% * 4 x 23| 6,068
ESIE e 1,920
ey 40,0002 * 42 * 122 1,920
_Azrelasag
12,5743 = 150% = 15A12F = 48 = 128 13,580
_sagnoag
100,592& * 150% *» 4% = 18L& 10,864
—AXRSSIIEE 100,592& » 4 x 15 6,036
—HHZAY] 140,000 = 48 = 128 6,720
_DEsEy) 100,000 * 424 + 128 4,800
=20 8,238 72,688 9.550
Jl23du| 82,238 72,688 9,550
201 LB AH| 18,518 17,468 1,050
01 AF22t2|H| 18,518 17,468 1,050
O=AIEX 2 16,0008 » 138tA « 128 2,496
OEZ0HAH] 7,000 * Al « 13" » 128 6,552
Otz 100,000& = 12& 1,200




2A AeAE 2R
M HY2LIH(A=NIAZRIARA) (OIEHIIE}
el Jl=3l (el &)
S - R - SRIEH) - ARAY - BAS e G HIDE2
OAR2 EA7H 50,000&  12& 600
O478 =4t 6,510
—=SAIN(LE) =2l 500,000& = 1CH 500
—ZelEdl ==cl 100,000& = 3CH * 50/100 150
—SAPDI EY 200,000 = 53 = 104 1,000
—HgH EU(S%W) 200,000 * 53| * 304 3,000
—ZglH EU(Z2]) 200,000 * 53 « 104 1,000
—PC ==cl 100,000& = 13CH = 20/100 260
—JIEt ==cltl 50,000& » 12& 600
OJIEF AFR2eld] 5,000& » 13& » 128 780
oo=2es 3+ 28
100,000 = 18 * 23] 200
OoRIZEE a7 M
15,0008 * 15 « 122 180
202 04l 49,140 49,140 0
01 =LHALI 49,140 49,140 0
O2tLHNLI 20,0003 » 13 » 122 » 123 37,440
O=2 04| 90,000& = 13% = 10& 11,700
203 gF=&i| 4,280 4,280 0
02 3 IRF 2| 680 680 0
O IMIH R = 40,0002 = 174 680
04 FEXZEHRFAI 3,600 3,600 0
ORAN2E LRI 300,000& = 12 3,600
204 2R+ HH| 1,800 1,800 0
01 A SR+ 1,800 1,800 0
ONZYRLHAY|(ALNABRIARLE)
150,000& » 1& » 12& 1,800
405 KHebE =H| 8,500 0 8,500
01 ML =EF =4 8,500 0 8,500
OodEn ¢ 1,000,000&  1CH 1,000
O=ADI ¢ 7,500,000& = 1CH 7,500






